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INSTRUCTIONS TO THE CANDIDATES

Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(@), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the following illustration.

lllustration:

1.Thesumof20and 12is

(@32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

1@ @ © @

Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked asincorrect.

The Booklet and OMR Answer Sheet must be handed over
to the Invigilator before the candidate leaves the
Examination Hall. No page(s) should be torn out from the
booklet.

Keep OMR Answer Sheet straight. Do not fold it.

All questions are compulsory, each question carries one
mark and there is NO negative marking.

. Use of calculator/mobile/ any electronic item/objection

materialis NOT permitted.
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SECTION- A

Who isthe father of Computer?

Alan Turing
Charles Babbage
Simur Cray
Dennis Ritchie

o 0o T o

Information retrieval is faster from

Register
Hard disk
Cache
RAM

o 0o o o

Nibbleisequal to

a. 2bits
b. 4bits
c. 8bits
d. 16 bits

The communication line between the CPU,
memory and peripheralsis called a

Line

Bus

media

o 0 T o

None of these

is the functional key to display
save as box.
F5
F6
F9
F12

o 0o T o

ASClI stands for
a. American Stable Code for International
Interchange

b. American Standard Case for Institutional
Interchange
c. American Standard Code for Information
Interchange

d. American Standard Code for Interchange
Information
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a. Internal Business Management

Y. TR oI Ao b. International Business Management
. g forsT T e c. International Business Machines
EAECSRICRRERRIEE d. Internal Business Machines
faom T T ? 8 SelecttheOddone
. SATRIeT faey a. Operatingsystem
g, TR b. Interpreter
. hHIEell c. Compiler
o, TUER d. Assembler

9 InternetExplorerisan/a--------
TS THTATL T oo, 7?
F st ey a. Operating system
E. AT b. HLL
T ?ﬁﬁ@'{@m c. DBMSSoftware
= i d. Webbrowser

10 How many arguments we can pass to a
fergaet &l &n fohdA SHeH TR FR THhA § ? destructor?
®. A4 a. 0
o T b. 1
T . 2
|1, fepedt off oich =t d. Anynumber
Ao B Q@ F1 O 298 e F1 siaee 11 Which of the following keyword is used to
I Y overload an operator?
F. TS a. overload
@, AEeWES b. override
T STE c. operator
9 e d. friend

12 The members in the class in C++ program are
1 1 et o Hrad oS fewiee BId § 2 by default
. GIeaes

a. protected

. TR b. private
. T ) c. public
o ASRA d. botha&c
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. stdio.h

9. conio.h

7. iostream.h

. windows.h
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. catch

9. throw

T try

. throws
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Class X, class Y and class Z are derived from
class BASE. This is _
inheritance

a. Multiple
b. Multilevel
c. Hierarchical
d. Hybrid

In which addressing mode the operand is
given explicitlyinthe instruction

a. Absolute
b. Immediate
c. Indirect
d. Direct.

The BSAinstructionis

Branch and store accumulator
Branch and save return address
Branch and shift address

o o T w

Branch and show accumulator

Wrapping up of data & functions togetherina
classisknownas

a. Overloading

b. DataAbstraction

c. Polymorphism

d. Encapsulation

Which header file must be included for cin
and cout?

a. stdio.h

b. conio.h

c. iostream.h

d. windows.h

Which key word is used to check exception in
the block of code?

catch

throw

try

o 0o T o

throws
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SECTION-B

The Central Processing Unit:

a. isoperatedfromthe control panel.

b. is controlled by the input data entering
the system

c. controlstheauxiliary storage unit

d. controlsallinput, outputand processing.

Aninterface that provides I/O transfer of data

directly to and from the memory unit and

peripheralis termed as

a. DDA

b. Serialinterface

c. BR

d. DMA

MRIindicates

a. Memory Reference Information.
. Memory Reference Instruction.

b
c. Memory Registers Instruction.
d. Memory Registerinformation

Which of the following clause is used for
sortingof datainSQL?

a. Where
b. Group by
c. Orderby
d. Having

Execution of two or more programs by a
single CPUisknownas:

a. Multiprocessing

b. Timesharing

c. Multiprogramming

d. Noneoftheabove

In a virtual memory system, the addresses
used by the programmer belongs to

a. memory space

b. physicaladdresses

c. addressspace

d. main memory address
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When an instruction is read from the
memory, itis called

a. MemoryRead cycle

b. Fetchcycle

c. Instructioncycle

d

. Memory write cycle

Consider a logical address space of 256 pages
with a 4-KB page size, mapped on to a
physical memory of 64 frames. How many
bits are required in the logical address and
physical address respectively?

a. 18,20

b. 18,18

c. 20,18

d. 20,20

Whatis Trojan horse?

a. lItisausefulwaytoencrypt password
b. It
information

c. It is a rogue program which tricks users
d. It'sabruteforceattackalgorithm.

is a user which steals valuable

Banker algorithmis usedto
a. Avoiddeadlocks

b. Detectdeadlocks

c. Preventdeadlocks

d. Recoverdeadlocks

Whichis not application software?
a. WindowsNT

b. MSWord

c. Page Maker

d. Photoshop

Network congestion occurs

a. incaseoftrafficoverloading

b. whenasystemterminates

c. when connection between two nodes
terminates

d. noneofthe mentioned
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. Communication between a computer and a

keyboardinvolves transmission.
a. Automatic
b. Half-duplex
c. Full-duplex

d. Simplex

The first Network
a. CNNET

b. NSFNET

c. ASAPNET

d. ARPANET

HTTPis protocol.
a. Applicationlayer
transport layer
network layer

none of these

o 0 T

URLstands for

a. uniquereference label
b. uniformreference label
c. uniformresource locator
d. uniqueresource locator

Whatis aweb browser?

a. aprogramthatcandisplayaweb page

b. aprogramused toview htmldocuments
c. it enables user to access the resources of
internet

d. allofthe mentioned

Fullform of DDLis

a. DynamicDatalanguage
b. Detailed Data Language.
c. DataDerived Language.
d. DataDefinition Language.
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)18
)81
&) 512

40. TR f(x) = 3x% + 15x + 5, @Y £(3.02) Hr
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31) 47.66

¥)57.66

) 67.66

) 77.66

41. [sinxdx §
H)-cosx+C
@) sinx+C

) tanx + C

Q) —cotx+C

d
42, a(tan X) %‘
) cosx

) sinx

H) sec’ x

&) cosec? x

37.

38.

SECTION-C

Let A = {1,2,3}. Then number of
equivalence relations containing (1, 2)
is

(A)1

(B) 2

(€)3

(D) 4

tan~'\/3 — sec™1(—2) is equal to
(A)m
(B) ~3
(€3
2
(D) -

39. The number of all possible matrices of

40.

41.

42.

order 3 x 3 with each entry O or 1 is:
(A) 27

(B) 18

(C)81

(D) 512

If f(x) = 3x% 4+ 15x + 5, then the
approximate value of f(3.02)is
(A) 47.66

(B) 57.66

(C) 67.66

(D) 77.66

[sinx dx is
(A)-cosx +C
(B) sinx + C
(C)tanx + C
(D)—cotx + C

d .
- (tan x) is
(A) cos x

(B) sin x

(C) sec? x
(D) cosec? x
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H) 1/4
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44, FaFT GHHIOT (%)3 + (%)2 +
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deF*+teV=C
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) -1
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47. QY WHAAA 2x + 3y + 4z = 4 3 4x + 6y +
8z=12FfaHrg e
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) 4 5FT5

) 8 §H1§

8) == 1%

48.9f n=73r=58rar »C, FTAT I :
N 21
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) 35
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43.

44,

45.

46.

47.

48.

Area lying between the curves
y? =4xandy = 2x is
(A)2/3

(B)1/3

(C) 1/4

(D) 3/4

The degree of differential equation

((Zi{;)g + (Z—z)z + sin (Z—z) +1=0is
A)3
(B) 2
(01
(D) not defined

The general solution of the differential

. d .
equation =2 = Xt jg
dx

(A)e*+e™¥ =C
(B)e*+e¥ =C

(C)e™*+e¥=C
(D)e™*+e™@ =C

The value ofi.(j xl?) +
J.@xk)+ k.(ix))is
(A)O
(B)-1
(€)1
(D)3

Distance between two planes:
2x+3y+4z=4and 4x + 6y +
8z=12 is

(A) 2 units

(B) 4 units
(C) 8 units
(

2 .
D) T units

If n=7andr =5, then the value of nC

r iS:

(A) 21
(B) 42
(C) 35
(D) 75
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SECTION-D

Which of the following increases when a
sound becomes louder?

a. Velocity

b. frequency

c. wavelength

d. amplitude

If the length and diameter of a wire of circular
cross section are both doubled, the
resistanceis

a. Halved

b. Doubled

c. Unchanged

d. Increasedfourfold

Nuclearsizes are expressedin a unit named
a. Fermi

b. Angstrom

c. Newton

d. tesla

Rate of change of displacement s called
a. Speed

b. Acceleration

c. Velocity

d. Deceleration

Speed of sound invacuum is
a. 340m/s
b. 600m/s
c. 380m/s
d. 300m/s

Inertiais a measure of
a. Acceleration

b. Force
c. Mass
d. Velocity
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Nitrogen freezes at 63.1 K. What is the
corresponding temperature in the
Fahrenheit scale?

a. -315eF
b. -346eF
c. -321eF
d. -290eF

A body covers 200 cm in the first 2 s and 220
cm in the next 4 s. The velocity of the body at
the end of the 7th second will be:

a. 30cm/s

b. 25cm/s

c. 10cm/s

d. 15cm/s

At which temperature the Fahrenheit and
Centigrade scalesare equal?

a. -48°

b. -40°

c. 37°

d. 40°

Energyinacapacitor can be stored in form of
1/2CV2

b. 2CV2
c. CV2
d. 1/2¢v

Q

Electric charge enclosed by Gaussian surfaceis
a. 0

b. 1
C. min
d. max

Electric charges under action of electric
forcesiscalled

a. electrostatic

b. electricflux

c. electricfield

d. electricfieldlines
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